

UNIVERSITY OF CALCUTTA

Notification No. CSR/81/2024

It is notified for information of all concerned that in terms of the provisions of Section 54 of the Calcutta University Act, 1979, (as amended), and, in the exercise of her powers under 9(6) of the said Act, the Vice-Chancellor has, by an order dated 20.092024, approved the following amendments pertaining to CSR/63/2024, dt.30.08.2024 (4-year Honours & Honours with Research & 3-year MDC syllabus of Education under CCF)

FOR MAJOR (4-year Honours & Honours with Research):

1. Semester 3 -EDC/H/SEC= Computer Application, Unit-2,

It will be Difference between File and Folder, not Data Storage

2. Semester-7 – EDC/H/CC17/7= Psychology of adjustment, Unit-2

The words Section 1 and Section 3 will be omitted.

FOR 3-year MDC

In the course structure, the word <u>Intership is added and the revised course structure</u> is enclosed.

Remaining part of 4-year Honours & Honours with Research & 3-year MDC Syllabus is unchanged. The new CSR shall take effect from the Odd semester examination, 2024 and onwards.

SENATE HOUSE Kolkata-700073 26.09.2024

Prof.(Dr.) Debasis Das

Registrar

Under-graduate Course Structure (MDC - EDUCATION) Based on NEP - 2020

In the 3 years B.A. <u>MDC course in Education</u>, there will be 6 Semesters. The curriculum consists of 8 Core Courses - 1, 8 Core Courses - 2, 6 Minor courses, 3 Inter Disciplinary Courses, 4 Ability Enhancement Courses (AEC), 3 Skill Enhancement Courses (SEC) and 4 Compulsory Value-Added Courses (CVAC), 1 Summer Internship course.

TH stands for Theory, TU for Tutorial and P for Practical

Semester 1 = 525 Marks (21 Credit) Semester 2 = 525 Marks (21 Credit) Semester 3 = 525 Marks (21 Credit) Semester 4 = 550 Marks (22 Credit) Semester 5 = 500 Marks (20 Credit) Semester 6 = 500 Marks (20 Credit) For Summer Internship = 75 Marks (3 Credit)

Total: 3200 Marks (128 Credits = 125 + 3)

Distribution of marks:	Core - 1	8 x 100 =	800
	Core – 2	8 x 100 =	800
	Minor	$6 \times 100 =$	600
	IDC	$3 \times 75 =$	225
	AEC	$4 \ge 50 =$	200
	SEC	$3 \times 100 =$	300
	CVAC	$4 \ge 50 =$	200
	Summer Internship	$1 \times 75 =$	75

3200 Marks

Distribution of Credits:	Core – 1		8 x 4	= 32
	Core – 2		8 x 4	= 32
	Minor	-	6 x 4	= 24
	IDC	-	3 x 3	= 9
	AEC	-	4 x 2	= 8
	SEC	-	3 x 4	= 12
	CVAC	-	4 x 2	= 8
	Summer	Internshi	p 1 x 3	= 3
		-		

128 Credits

Semester	Core Course – 1	Core Course - 2	Minor	IDC/MDC	AEC	SEC	CVAC	Internship (Either Sem 2/4/6)	Total Credit
1	1 x 4 = 4 3 Th 1P/TU	1 x 4 = 4 3 Th 1P/TU		1 X 3 = 3 2 Th 1 P/TU	1 X 2 = 2 2 Th 0 P/TU	1 X 4 = 4 3 Th 1 P/TU	2 x 2 = 4		21
2	1 x 4 = 4 3 Th 1P/TU	1 x 4 = 4 3 Th 1P/TU		1 X 3 = 3 2 Th 1 P/TU	1 X 2 = 2 2 Th 0 P/TU	1 X 4 = 4 3 Th 1 P/TU	2 x 2 = 4	1 x 3 = 3	21/ <mark>24</mark>
3	1 x 4 = 4 3 Th 1P/TU	1 x 4 = 4 3 Th 1P/TU	1 X 4 = 4 3 Th 1 P/TU	1 X 3 = 3 2 Th 1 P/TU	1 X 2 = 2 2 Th 0 P/TU	1 X 4 = 4 3 Th 1 P/TU			21
4	2 x 4 = 8 (2x) 3 Th 1 P/TU	2 x 4 = 8 (2x) 3 Th 1 P/TU	1 X 4 = 4 3 Th 1 P/TU		1 X 2 = 2 2 Th 0 P/TU			1 x 3 = 3	22/25
5	2 x 4 = 8 (2x) 3 Th 1 P/TU	1 X 4 = 4 3 Th 1 P/TU	2 X 4 = 8 (2 x) 3 Th 1 P/TU						20
6	1 X 4 = 4 3 Th 1 P/TU	2 x 4 = 8 (2x) 3 Th 1 P/TU	2 X 4 = 8 (2 x) 3 Th 1 P/TU					1 x 3 = 3	20/23
Credits	8 x 4 = 32	8 x 4 = 32	6 x 4 = 24	3 x 3 = 9	4 x 2 = 8	3 x 4 = 12	4 x 2 = 8	1 x3 = 3	125+3 = 128
Marks	8 x 100 = 800	8 x 100 = 800	6 x 100 = 600	3 x 75 = 225	4 x 50 = 200	3 x 100 = 300	4 x 50 = 200	1 x 75 = 75	3200

Semester wise Course Structure

<u>SEMESTER – 1</u>

Course Code	Course Type	Credit	Marks	TH – TU - P
Core Course	CC – 1	4	100	3 - 1 - 0
Core Course	CC – 2	4	100	3 - 1 - 0
IDC	IDC	3	75	2 - 1 - 0
AEC	AEC	2	50	2 - 0 - 0
SEC	SEC	4	100	3 - 1 - 0
	CVAC	2	50	2 - 0 - 0
CVAC	CVAC	2	50	2 - 0 - 0
		21	525	

1 credit = 25 Marks

<u>SEMESTER – 2</u>

Course Code	Course Type	Credit	Marks	TH – TU - P
Core Course	CC – 1	4	100	3 - 1 - 0
Core Course	CC – 2	4	100	3 - 1 - 0
IDC	IDC	3	75	2 - 1 - 0
AEC	AEC	2	50	2 - 0 - 0
SEC	SEC	4	100	3 - 1 - 0
	CVAC	2	50	2 - 0 - 0
CVAC	CVAC	2	50	2 - 0 - 0
Internship	Ι	3	75	1-0-2
		21/24	525/600	

<u>SEMESTER – 3</u>

Course Code	Course Type	Credit	Marks	TH – TU - P
Core Course	CC – 1	4	100	3 - 1 - 0
Core Course	CC – 2	4	100	3-1-0
MINOR	М	4	100	3 - 1 - 0
IDC	IDC	3	75	2 - 1 - 0
AEC	AEC	2	50	2 - 0 - 0
SEC	SEC	4	100	3-1-0
		21	525	

1 credit = 25 Marks

<u>SEMESTER – 4</u>

Course Code	Course Type	Credit	Marks	TH – TU - P
Core Course	CC – 1.1	4	100	3 - 1 - 0
Core Course	CC – 1.2	4	100	3 - 1 - 0
Core Course	CC – 2.1	4	100	3 - 1 - 0
Core Course	CC – 2.2	4	100	3 - 1 - 0
MINOR	M	4	100	3 - 1 - 0
AEC	AEC	2	50	2 - 0 - 0
Internship	I	3	75	1-0-2
		22/25	550/625	

<u>SEMESTER – 5</u>

Course Code	Course Type	Credit	Marks	TH – TU - P
Core Course	CC – 1.1	4	100	3 - 1 - 0
Core Course	CC – 1.2	4	100	3 - 1 - 0
Core Course	CC – 2	4	100	3 - 1 - 0
	М	4	100	3-1-0
MINOR	М	4	100	3 - 1 - 0
		20	500	

1 credit = 25 Marks

<u>SEMESTER – 6</u>

Course Code	Course Type	Credit	Marks	TH – TU - P
Core Course	CC – 1	4	100	3 - 1 - 0
Core Course	CC – 2.1	4	100	3 - 1 - 0
Core Course	CC – 2.2	4	100	3 - 1 - 0
MINOR	М	4	100	3-1-0
	М	4	100	3 - 1 - 0
Internship	I	3	75	1-0-2
	·	20/23	500/ 575	

1 credit = 25 Marks

Course Title for the Subject Education: -

	Core Course	CC – 1 = Introduction & Philosophical Foundation of Education
	Core Course	$\mathbf{C}\mathbf{C} - 2 =$ Introduction & Philosophical Foundation of Education
Semester – 1	IDC	IDC = Inclusive Education
	SEC	SEC = Communication Skill

	Core Course	$\mathbf{CC} - 1 = \mathbf{Psychological}$ Foundation of Education
	Core Course	$\mathbf{C}\mathbf{C} - 2 = \mathbf{P}$ sychological Foundation of Education
Semester – 2	IDC	IDC = Inclusive Education
	SEC	SEC = Communication Skill
	Internship	Any one activity

	Core Course	CC – 1 = Guidance and Counselling
	Core Course	CC – 2 = Guidance and Counselling
Semester – 3	IDC	IDC = <i>Inclusive Education</i>
	SEC	SEC = Communication Skill
	Minor	M - 1 = Introduction & Philosophical Foundation of Education

	Core Course	CC – 1.1 = Educational Organization & Planning
	Core Course	CC – 1.2 = History of Education
	Core Course	CC – 2.1 = Educational Organization & Planning
Semester – 4	Core Course	CC – 2.2 = History of Education
	Internship	Any one activity
	Minor	M - 2 = Psychological Foundation of Education

	Core Course	CC – 1.1 = Women Education
	Core Course	CC – 1.2 = Curriculum studies
Semester – 5	Core Course	CC - 2 = Aspect of Teaching
	Minor	M - 3 = Guidance and Counselling
	Minor	M - 4 = Educational Organization & Planning

Semester – 6	Core Course	$\mathbf{C}\mathbf{C} - 1 = $ Aspect of Teaching
	Core Course	CC – 2.1 = Women Education
	Core Course	$\mathbf{C}\mathbf{C} - 2.2 = \mathbf{C}\mathbf{u}\mathbf{r}\mathbf{r}\mathbf{i}\mathbf{c}\mathbf{u}\mathbf{l}\mathbf{u}\mathbf{s}\mathbf{t}\mathbf{u}\mathbf{d}\mathbf{i}\mathbf{e}\mathbf{s}$
	Internship	Any one activity
	Minor	M - 5 = Management in Education
	Minor	M - 6 = History of Education